Determination of Activation Energy using Two data points:

Determination of Activation Energy using two data points:

Determine the activation energy (Ea) using the k = 0.77 M–1s–1 at 330oC and k = 4.7 M–1s–1 at 383oC.
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Compiled from the work of faculty member Carol Zimmerman by the Tallahassee Community College Learning Commons staff members.
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Practice:

1) Determine the activation energy (Ea) using the k = 0.500 M–1s–1 at 92.0oC and k = .750 M–1s–1 at 100.oC.


2) Determine the Temperature with k = 0.500 M–1s–1 using Ea= 57.4 KJ/mol and k = .750 M–1s–1 at 100.oC.


3) [bookmark: _GoBack]Determine the rate constant at 92.0oC using Ea= 57.4 KJ/mol and k = .750 M–1s–1 at 100.oC.
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